1 2 3 4 5 6 7 8
8:10 8:20 P23 =E/MEE fBE
8:20 8:30 i) 24 AL/7 b
8:30 8:40 wE &1l
8:50 9:15(GDC1 BDA1 BDC1 BDC?2 GDA1l GDA2 GDB1 DSA1l
9:15 9:40(GDB?2 GDC2 GDC3 GDC4 GDC5h BDA2 BDA3 DSB1
9:40 10:05|BDB1 BDC3 BDC4 GDA3 GDA4 GDB3 GDB4 DSC1
10:05 10:30|GDC6 GDC7 BDA4 BDAb BDB?2 BDB3 BDC5 DSD1
10:30 10:55|BDC6 GDAb GDAG6 GDB5 GDB6 GDC8 GDC9 DSE1
10:55 11:20|GSC1 GSC2 GSC3 GSC4 GSCh GSC6 GSC7 DSA?2
11:20 11:45|GSC8 BSA1l BSA2 BSA3 BSC1 BSC2 BSC3 DSB2
11:45 12:10|BSC4 BSC5H BSC6 BSC7 BSC8 GSA1l GSA2 DSC2
12:10 12:35|GSA3 GSA4 GSB1 GSB2 GSB3 GSB4 GSB5 DSD2
12:35 13:00|GSC9 GSC10 |GSC11 GSC12 |[GSC13 |GSC14 |GSC15 |DSE2
13:00 13:25|GSC16 BSA4 BSAbL BSA6 BSA7 BSB1 BSB2 DSA3
13:25 13:50|BSC9 BSC10 BSC11 BSC12 GSAbL GSA6 GSA7 DSB3
13:50 14:15|GSA8 GSB6 GSB7 GSB8 GSB9 GSC17 |[GSC18 DSC3
14:15 14:40|GSC19 GSC20 BSA8 BSA9 BSB3 BSB4 BSC13 DSD3
14:40 15:05|BSC14 GSA9 GSA10 [GSB10 [GSB11 GSC21 |GSC22 DSE3
15:05 15:30|BSA10 BSA11 BSB5 BSB6 BSC15 BSC16 GSAl1 DSA4
15:30 15:55|GSA12  |GSB12 |GSB13 |GSC23 |GSC24 DSC4




